EARAROBEEIERT — 2 N— IBISH —F

201782A13H (B) 17EAH#1H

s >%—#% c2=m

‘ [R1%] & ‘ [REBB] — | & (£) 16000 B

[A&4] 1 7% :1,000,000 @ ~ 2 3 :400,000 @ 33 :250,000  ~ 4 3% :150,000 @ . 5 7 :100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s . BEEXEH 143 -1-1- . — FEEBEK (KFH)
117l =oAL E=2 b o4 55 1(4_3)5 1-1-1-1 | 40.2 1 (5_414) P
RHIIEIR BHIITL)—Fx ilj::Ei e
s = so4 | EIIEED 1:44.2 6-6-4-4 |40.3| — 5 | 456 |IBE=EE (KH)
217110 JXER—T— ;6-0 (3 1/2) -7) ﬁf,ﬁﬁ%;]
Ri*xfavkh-5— B:4-E-V-> Skt e
5 . o4 | BIRER 1:44, 12-12-11-8 | 39.3 | — 7 432 | THARBA (i)
31| VYT hL—2 * 56.0 (7€) 5 | A RE-FTr—4
LY LTA4N— b B:I7ANT1 v IR ZAE-RKI7T7—L
=i o 4 4 | FIHEA 1:44.3 3-3-3-3 | 40.7| — 11 409 | BEEH (KH)
41813 ZYLL27IVR 54.0 7€) (+1) 1ZiEfnt
R:€>r/0704 B:A-U—-3IZX K [FalEspaed
. j o5 | BEARE 1:44.3 2-2-2-2 |#1.0| — 2 503 | BERMER (KH)
51812 1>F=T ¥¢55.0 (74%) (0) B) #>7-L=227
L:TANVRTy Y2 BRFHAXTIHLI IR
o8 4 o4 | BEX 1:44.3 9-10-8-5 |39.7| — 4 498 | EEFE (viE)
EH g eQq 2 R—1 56.0 7E) (0) (B) ®iRKS
L:ZZXHweR B:Iq44enqd IR
VN . t 6 | AllEEY 1:45.6 9-8-6-7 |41.6| — 6 460 | BAREZ (KH)
7156 |F>TVv /> g .0 ®) (1) | AR
Lo—FJo—- B:v/ > EiEirse]
S0 @ A EB 1 2 : 55— - EHET (KH)
8 ol Hrrnze—t B4 e 1(.;/;4.)7 5-5-5-6 | 41.8 8 ::1235 imA;T
R:ZAv—bhR—a B:X¥—FrIvY i AlErae]
. H o6 | BIBYS 1:45.8 1m-11-12-11| 41.0 | — 3 500 | AR (KFH)
9|57/ 7xVv 72X 56.0 (1/2) (43 | BH=MER
LA R—3IFk—L BTVI=—UJLR A—L— - Tu/N - 77— LARE
N pay: 145, —4-7- . = FEEFE (KH)
" REEECEDS F= v Il R el I Il et
L:Er/0704 B:ISINTrLEY EVFAT -4
HEIGIhE : —13-12- — FERERE (KH)
11 5| X171 FaAZ it 4 o 1.?563.8 13-13-12-13| 41.9 12 <4+646) ST
R:T7HIHF>T2 B:bhyTFaqR HET7—L
= SN B4 | HEARE 1:46.9 8-9-9-10 |42.5| — 13 | 446 |BRA—R (KH)
12 g| 777 —H—-T> 54.0 (1/2) () |
L:xrinaO— B:YYTTISTT— [OX-Fxox=1% ¢
SPES i 4 | WEF 1:46.9 7-7-10-11 [ 42.5| — 9 451 | ETEH (D)
13 2 AZ2—=XLT 4 54.10 (74%) 1) HAEL
LG4 h7—ILEY B LT sv—ARO BHT7— L
® I—F—@EBIERL
15l=2F= 11,12,13,4,9,10,2,8,(3,6),7,1,5
Ao=5"= 11,12,13,4,9,10,2,6,8,3,7,1,5
33—7— |11,12,13,10,9,6,4,3,8,2,1,(5,7)
43—7+— |11,12,13,10,3,9,6,1,4,8,(2,7),5
[ N5
B R 1 2800 | | 741 K 10-11 940/ | | # = 7-7 2,110 | | 3=E®| | 1-10-11 7,730M
% B 1 140 1-11 810 | | # & 7-7 2,240 | | 3EE | 11-10-1 33,290M
10 300/ 1-10 2,000 B = 10-11 2,580H
1 280M B H 11-10 3,690

ABICOVWTRDTEEERROODE. TR LIV,




